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S EOIQI=XI T
2 HOHISX JIE T (ALSISXI/FHAHSKIH)
Bl Hoje Moty & g XA (S &)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
= 5,967,397
T 1,790,219
S (XAR) XS (=1) 4,098,473 4,108,704 210,231
= 3,152,671
= 5,802
301 LPBNF 4,098,473 4,108,704 A 10,231
= 3,152,671
& 5,802
01 AISIBE X 2GS (2 LEZTME) 4,098,473 4,108,704 A10,231
oM=L (Xtae S) = 4,098,473
= 3,152,671
& 5,802
Zofelelz24| X (=21) 1,156,160 1,156,160 0
= 983,965
T 172,195
308 AXISHMSOIN 1,156,160 1,156,160 0
= 983,965
= 172,195
01 XX B A E LS 1,156, 160 1,156,160 0
O&FOe! 2l=H| K& 1,156, 160
= 983,965
& 172,195
MASEOHe! ety & A XI&(212) 24,696 24,696 0
= 20,580
T 4,116
308 AXISHMSOIN 24,696 24,696 0
= 20,580
= 4,116
01 IXSHBLEERS 24,696 24,696 0
OMASZEOHR &EHl & ZAHHl XI& 24,696
= 20,580
= 4,116
Zope! J=dMes8d XA 202,219 179,355 22,864
301 LetENZ 202,219 179,355 22,864
02 ASIBEESG2(FHLHS, NSME) 202,219 179,355 22,864
OHFO0C! HIZ B 24| X 5,148
ORI TAIS BHEAMHIA K& 176,671
OFOfel AZHA, AAZLHO|2 == X 20,400
ZOHQl Hgk 23t 52,750 88,766 A36,016
301 LB F 22,750 22,750 0
02 MBI 2EA>H S (HUAHS, NSTHA) 22,750 22,750 0
ON=AE ElA & S OIoH&0He! KHEE
=32 K& 22,750

- 459 -




S EOIQI=XI T
A NS J1gh Y (ARISX/HAANEXR)
Rl Hopel Moty & T XA CEREED
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
308 XHXIEMSOIH 30,000 66,016 A36,016
01 XN BSELES 30,000 66,016 136,016
oz =8 K& 30,000
ZOHQIEZD|D| X2 (=1) 80,321 102,682 N22,361
= 76,497
= 3,824
308 AHAIEHMSOIE 80,321 102,682 N22,361
= 76,497
= 3,824
01 RSN EES 80,321 102,682 22,361
OFMUEEII] K& 80,321
= 76,497
= 3,824
ZRASEUXNESEZIDINE 2 XA (=2) 227,750 222,750 5,000
= 113,875
< 113,875
307 el2to| & 227,750 222,750 5,000
= 113,875
= 113,875
10 AlISXAZEE 22X 227,750 222,750 5,000
OZASEENXNEERIPDIMH 2SN 227,750
= 113,875
= 113,875
ZOHQI XIS M X2 HE X2 (=1) 341,673 334,526 7,147
= 262,826
== 78,847
308 AHXIEMSOIE 341,673 334,526 7,147
= 262,826
< 78,847
01 HAHHBSEEXS 341,673 334,526 7,147
O AEHEXNALH K& 341,673
= 262,826
= 78,847
ZOHQI X A& X2 HIE IR (KEA) 25,623 12,000 13,623
308 XtXIEMSO0IE 25,623 12,000 13,623
01 AXEH B2 LS 25,623 12,000 13,623
AN HEXN AL Z2) =2 11,000
OZNQ A M XAAH 2 KA 14,623
BRASENXSERIPDNE JIsE2(=21) 50,000 0 50,000
= 25,000
= 25,000
402 2I2F X201 & 50,000 0 50,000
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S EOIQI=XI T
A NS J1gh Y (ARISX/HAANEXR)
Rl Hopel Moty & T XA CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 25,000
=S 25,000
02 QIZEHE AL E X (01X THE) 50,000 0 50,000
OLASEUXNETERIDINH JIsE22 50,000
= 25,000
< 25,000
oS4 N 83,389 83,389
307 @20l & 83,389 83,389
1 AMISXAIEEX 83,389 83,389
OZ o Irede K& AHlA 83,389
FE Mot SSTe! Tratedd X 51,680 0 51,680
301 2P EN= 46,080 46,080
02 A2 EH LGS (HAAS, W) 46,080 46,080
ozE Mt SSEMY Tratedd X 46,080
307 elztol & 5,600 5,600
1 AMEISXAEEES 5,600 5,600
ozd Mt SSEMY Ted 29 5,600
ZONRIXIEF otOlA =& X XI& 7,266 7,266
301 eEetE2 N = 7,266 7,266
02 ANBI2HHSFS(HAAS, NLHE) 7,266 7,266
OZONQIRIE StOlA =Dl £ X2 7,266
AEZOL! HEHA 2=(=1) 185,460 0 185,460
= 154,550
= 30,910
308 XXM SOIA 185,460 0 185,460
= 154,550
== 30,910
01 XN BELES 185,460 0 185,460
OAIZZO0H NEMA += 185,460
= 154,550
< 30,910
ZoHe! A ST 2 ARIEN 2 2,043,464 2,337,251 A293,787
= 128,834
= 1,914,630
HoAANLE &F = 652,059 906,149 A254,000
307 212+01& 307,142 309,302 A2,160
11 AMEISXAEEES 307,142 309,302 A2,160
OFMHAEHYZSID =X HH 2 307,142
308 XXM SOl 344,917 596,847 251,930
01 XN BSELS 344,917 596,847 A251,930
OAlZ HoHESEI|=X2dEH K& 222,217
OxnZ 2IZFAIE E24 e 122,700
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SA: BOHRI= XD
A NS JIgh Y (ARISXI/HAANEXR)
CHel: mOHO! Ol BA U ABIEO! S (eHo): @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 175,776 175,776 0
OgZHMe NHE2Y 23t X 4,326
oFe JisdJitizl K& 13,950
OZUMA=SXNSTANE B2 157,500
308 XM SOIH 10,000 20,000 10,000
01 AX N B2 LS 10,000 20,000 10,000
OggHMe =2 & 10,000
SIH XHoH K+ =X S8 276,500 170,000 106,500
307 elztol & 11,500 10,000 1,500
11 AMEISXAIEEE 11,500 10,000 1,500
OXH o ALSl & XI&A 11,500
308 AXIHSO0IA 245,000 160,000 85,000
01 HAHHBSEEXS 245,000 160,000 85,000
OZIH Mol AtatE A 2 105,000
OXIH Mo E 2l SHtA 105,000
OXHMHE 2l EHX2l SEatAI 20,000
O HAAAL X2 28 XNEH 15,000
403 MR HHMSAHE01H 20,000 20,000
01 MHXIHH A =22 20,000 20,000
OX=NHMNAE =l HFFAKR JISES 5,000
OXAHZZUHSXNE HMSAE X X 15,000
0Nl SrE AMHIA X 90,524,820 74,457,802 16,067,018
= 79,224,806
=S 11,300,014
ZOHRIXJHEH T2 2 1,368,730 1,212,671 156,059
307 elztol & 681,208 648,192 33,016
1 AMEISXAEEXS 681,208 648,192 33,016
OAIZZ ORI Kt X2 HIE 69,331
OH==ZOH HE X HIE 126,283
(OPNE=FV RIDNE=DNEE Rl =] 274,782
OF I IH X2 HE 80,812
oI SEEA 130,000
308 AXIHSO0IA 542,522 534,479 8,043
01 HRHHBSEES 542,522 534,479 8,043
OAlZ AT OHIAIE A2 HIE 165,860
OAlz EofeISsatsgd 376,662
402 2I2F X201 & 50,000 50,000
01 QIZtXH2 AL 2 (KM TH ) 50,000 50,000
O NHFMHANSAHHE JIs2S 50,000
403 AXIEHMSAH=0l 95,000 30,000 65,000
01 AXISHHA =2 £ 95,000 30,000 65,000
OAlZ NEYMHAXEXNZLH JIsE2H 65,000
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S EOIQI=XI T
A NS JIgh Y (ARISX/HAANEXR)
el EOjQl 2E AHIA X (SHol: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| ozgzuIXAMEE JIs2Y 30,000
HAZoHC E4HIE XIE(21) 33,744 34,200 VAV
= 31,080
& 2,664
301 eEetE2 N = 33,744 34,200 N45%6
= 31,080
= 2,664
01 ARRIE2HHSHS(SRNERTHE) 33,744 34,200 N456
04 EoHel E4tHIE X2 33,744
= 31,080
= 2,664
HAZoHe NEXIA(=1) 100,695 98,592 2,103
= 92,745
< 7,950
308 AXIHSOIA 100,695 98,592 2,103
= 92,745
S 7,950
01 HASHHBSEXS 100,695 98,592 2,103
OWd&0He! WX 100,69
= 92,745
= 7,950
Zoje sXES0 XN&(=21) 59,972,472 54,542,473 5,429,999
= 55,237,803
== 4,734,669
308 XXM SOIA 59,972,472 54,542,473 5,429,999
= 55,237,803
< 4,734,669
01 HRHHBAEES 59,972,472 54,542,473 5,429,999
oo 2sXA20 A 59,972,472
= 55,237,803
= 4,734,669
S3s2X JRIZ0(21) 1,012,794 696,794 316,000
= 932,884
= 79,910
308 XXM SOIA 1,012,794 696,794 316,000
= 932,884
== 79,910
01 XN BSELES 1,012,794 696,794 316,000
OEsEX Jhts¢ 1,012,794
= 932,884
< 79,910
NI SKIE FIHAE 801,488 720,778 80,710
308 AtXIEHMSOIE 801,488 720,778 80,710
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S EOIQI=XI T
A NS JIgh Y (ARISX/HAANEXR)
ol FONOl OHE AHIA XIR (SHol: )
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
01 AXEHNBELES 790,007 709,900 80,107
OZMAESKIA F=ItAr 790,007
18 SIS0t oA AS A 11,481 10,878 603
OHMISSAE FIAE ?& 11,481
LASENXN LY H AR ANYH 2SXA(=21) 574,000 563,600 10,400
= 287,000
= 287,000
307 212+01& 574,000 563,600 10,400
= 287,000
S 287,000
10 Al2ISTIAIEEE 22X 574,000 563,600 10,400
OLASENXN=LEZUNANAHEH 2
A& 574,000
= 287,000
< 287,000
LTHEMEIA HIRH™ AIZ(31) 4,942,228 3,454,656 1,487,572
= 4,552,052
= 390,176
308 AXIHMSO0IA 4,942,228 3,454,656 1,487,572
= 4,552,052
= 390,176
01 AXENBSELES 4,942,228 3,454,656 1,487,572
OZEMEAHIA HIRX A 4,942,228
= 4,552,052
=S 390,176
HAOLEXR HIRH Al (=21) 8,565 8,565 0
= 7,889
= 676
308 AHRIEHMSOIE 8,565 8,565 0
= 7,889
= 676
01 AXEHBEES 8,565 8,565 0
O LA 8,565
= 7,889
= 676
Zojot Jt= L=X&(=1) 2,886,364 2,532,973 363,391
= 2,020,455
< 865,909
307 gl2to| & 2,886,364 2,532,973 363,391
= 2,020,455
= 865,909
11 AMISXAIEEX 2,886,364 0 2,886,364
OZ 0ot 15 =X 2,886,364
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S EOIQI=XI T
A NS JIgh Y (ARISX/HAANEXR)
ohel: TOHO! 2B AHIA X9l (Srol: 22)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 2,020,455
=S 865,909
33=A HIEX&(=1) 184,800 184,800 0
= 147,840
< 36,960
307 gl2tol & 184,800 184,800 0
= 147,840
= 36,960
11 ARRIS XA E X 184,800 184,800 0
O3s=2 HIEXE 184,800
= 147,840
= 36,960
LT RPRALXR(21) 21,714 26,057 A4,343
= 20,000
== 1,714
308 XXM SOIE 21,714 26,057 N4,343
= 20,000
< 1,714
01 HAHHBSEEXS 21,714 26,057 AN4,343
OogzdMe FRAEA 21,714
= 20,000
= 1,714
LETOHR IIEFAKIE(RD) 131,429 131,429 0
= 92,000
=S 39,429
307 elztol & 131,429 131,429 0
= 92,000
< 39,429
1 AMEISXAIEEXS 131,429 131,429 0
OZLHM IEFAXNE 131,429
= 92,000
= 39,429
HR0P| FR2WS(2D) 24,000 24,000 0
= 12,000
= 12,000
307 lztol & 24,000 24,000 0
= 12,000
s 12,000
11 AMEISXAIEEE 24,000 24,000 0
0870 R2u= 24,000
= 12,000
[ 12,000
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S EOIQI=XI T
A NS JIgh Y (ARISX/HAANEXR)
el EOjQl 2E AHIA X (SHol: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
HOIMED| LY IH M24E L D 221 24,000 24,000 0
F(=1)
= 12,000
< 12,000
307 el2to| & 24,000 24,000 0
= 12,000
= 12,000
11 AMISXAIEEX 24,000 24,000 0
OHQUMED| YLHOR A HZ2aE Y
E 24,000
= 12,000
S 12,000
A AWK (F1) 18,000 18,000 0
= 9,000
< 9,000
307 elzto| & 18,000 18,000 0
= 9,000
S 9,000
1 AMISXAIEEX 18,000 18,000 0
od 21d u=s 18,000
= 9,000
= 9,000
FUHESHHIA 2HoETA(=21) 187,200 186,000 1,200
= 93,600
== 93,600
307 elztol & 187,200 186,000 1,200
= 93,600
< 93,600
10 Al SXAIEEHE2EHI2x 187,200 186,000 1,200
O=2&sSMHIA 2FAAXA 187,200
= 93,600
= 93,600
LN =2AHESAHIA K& (F10) 11,421,714 7,423,029 3,998,685
= 10,520,000
= 901,714
308 XXM SOIA 11,421,714 7,423,029 3,998,685
= 10,520,000
== 901,714
01 XN BSELS 11,421,714 7,423,029 3,998,685
OgadMe FLaSAEIA NE 11,421,714
= 10,520,000
< 901,714
A LIHfEN HSESAHHA X3 (I1D) 1,876,114 2,175,771 A299,657
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S EOIQI=XI T
A NS JIgh Y (ARISX/HAANEXR)
ohel: TOHO! 2B AHIA X9l (Srol: 22)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOl 961,056 0 961,056
= 800,880
== 160,176
01 XN BSELES 961,056 0 961,056
OzIS5 LEIM =2t JHE UL 2 961,056
= 800,880
S 160,176
IEE LEHM =2 08 2Ue 2H(=1) 1,271,371 0 1,271,371
= 1,171,000
= 100,371
308 XXM SO0IE 1,271,371 0 1,271,371
= 1,171,000
=S 100,371
01 XN BELES 1,271,371 0 1,271,371
OzISE 2L =2t 15 UL 29 1,271,371
= 1,171,000
[ 100,371
5T LY SESs(=1) 71,000 0 71,000
= 35,500
= 35,500
307 212+01& 71,000 0 71,000
= 35,500
= 35,500
10 AlRISXIAIEEE2HIEX 71,000 0 71,000
Oz=s LML Se== 71,000
= 35,500
== 35,500
ol NHEAE At = 1,800 0 1,800
202 04dl 1,800 1,800
01 2L AL 1,800 1,800
OZoHe! THEXIE At =&l 1,800
Fo=XAE 28 L &5 XN 46,579,992 45,219,138 1,360,854
= 35,175,070
Jl 97,716
< 11,307,206
JOHA=SXALE 2 908,076 897,564 10,512
201 er= 3| 2,700 2,700 0
01 AtR2te|H] 2,700 2,700 0
OFMI=XNAE 2 XS 2,700
202 04| 5,400 5,400
01 =LHO LI 5,400 5,400
OFMA=SXAIE 2 K& 5,400
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2A:

ZOHR!I= Xl

T ZojoI=T| Jl8 Ea(MEIST/HASTIR)
ool HOQISXAL 2Y Y &5 X (crel: g)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
301 EtE NS 5,400 5,400
11 dAMEEIXIZE S 5,400 5,400
OZMA=SXAIE 2 K& 5,400
307 el2to| & 242,160 238,560 3,600
1 AMEISXAIEEXS 242,160 238,560 3,600
O ZUASKIAIE SAL SX=E 242,160
308 AtXIEHMSOIE 652,416 645,504 6,912
01 AXEH B EES 652,416 645,504 6,912
OAlZ HOHASXAIE SAHA =K== 652,416
ARSI SAHT MM 170,790 148,920 21,870
307 lztol & 103,950 84,000 19,950
11 AMEISXAEEES 103,950 84,000 19,950
O A2 SAHA MRMHE =& 103,950
308 AXIMSOIA 66,840 64,920 1,920
01 MRHHBAEES 66,840 64,920 1,920
OAlT HOHISXIII2 SAHL MM =
e 66,840
ZOHR! H=AE 2SR (21) 37,991,705 36,258,698 1,733,007
= 34,992,360
= 2,999,345
308 XXM SOIA 37,991,705 36,258,698 1,733,007
= 34,992,360
= 2,999,345
01 HXHH B E2ES 37,991,705 36,258,698 1,733,007
OFM HFAlE 2E X2 37,991,705
= 34,992,360
[ 2,999,345
O AF=AE SIEFD| dg NJ(=1) 15,515 31,030 A15,515
= 13,690
= 1,825
308 AHXIHMSO0IA 15,515 31,030 15,515
= 13,690
= 1,825
01 RSN B E2ES 16,515 31,030 A 15,515
O H=FAE SI1EE)| eig N 15,515
= 13,690
== 1,825
HOHAAFAIE loT, AIZE SSAIY 2S(=1) 3,583 0 3,583
= 3,300
= 283
308 AtAIEHMSOIE 3,583 0 3,583
= 3,300
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2A:

ZOHR!I= Xl

T TOJOIZ| JIEt E(ASST/HAHSKE
Chel TOJOIZTIAIE 22 U &E X (SHol: )
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
< 283
01 X HHNBAEXS 3,583 0 3,583
OFMUAFAIE loTHlA Sl K& 3,583
= 3,300
== 283
Z0 HFAE 2HAA 498,910 473,994 24,916
201 L2 7,450 8,400 A950
01 AtR2telb] 7,450 8,400 2950
OZONAUNFAIE AL =E 7,450
307 212t01™ 491,460 465,594 25,866
10 Al SXAEEHE 22X 491,460 465,594 25,866
OZ AT HF=AIE 2SN 333,697
OFML! SSHUEIHE 2SS 157,763
o SSHUEIHE tHesE X 8,515 13,278 N4,763
307 212t01& 8,515 8,354 161
11 ARRIEXAIEEE 8,515 8,354 161
Ok ZHHUSSHEIE A=A X 8,515
ZOHe! HFAIE Alg2te|eld X 165,734 139,200 26,534
308 XHXIEMSOIH 165,734 139,200 26,534
01 HREHH B EES 165,734 139,200 26,534
OHMUANFAIE A2l X 165,734
OIcHE Ol EH 2HXJ(=1) 179,478 178,020 1,458
= 89,739
= 89,739
307 212+01& 179,478 178,020 1,458
= 89,739
= 89,739
10 Al SXAEEHE 22X 179,478 178,020 1,458
Ol 2SXE 179,478
= 89,739
S 89,739
Dol &0l e 2SXIA 79,750 79,750
307 212t01™ 79,750 79,750
10 MEISXAIEHE2EHIE2X 79,750 79,750
Ol g 2 79,750
ZOHR! HFAIE JIsEH 79,000 139,000 260,000
403 NI EMS =01 79,000 139,000 260,000
01 AXISHHA2EE 79,000 139,000 60,000
OFMHL HFAIM JIsEH 79,000
ol HAMEALE 2 861,731 790,935 70,79%6
307 212t01™ 861,731 790,935 70,79%6
10 MEISXAIEHE2EHIEX 861,731 790,935 70,796
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ZOHR!I= Xl

A ZOHRISX JIgh R (ARISX/HAANEXR)
ool DOHOIZRIAIS 2% L =5 X (Srol: 22)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Ox=0SHHH JIsEZ 42,000
O=F2UESAIE JIsES 74,500
OZHAMEOISKNELH Jls2 22,000
AT SSWHZ2OH 2SR (21) 139,597 139,597 0
7l 97,716
= 41,881
307 glztol & 139,597 139,597 0
Il 97,716
s 41,881
10 Al SXAAIEEHE2EHI2x 139,597 139,597 0
OAATMEER SSMEZ2I8 IR 139,597
Jl 97,716
< 41,881
T YifSEsA2 M= 601,045 601,045
401 Al HIZ R OHHI 601,045 601,045
01 A28l 601,045 601,045
O Fjess=sN2 A= 601,045
Z0He! D8 ST (ASSX/HAUHNSKE) 14,405,429 13,478,286 927,143
= 11,261,000
< 3,144,429
ZOHI LAl Al 2= & XF FA 14,405,429 13,478,286 927,143
= 11,261,000
= 3,144,429
ZoHel e dXtel XJ(=1) 6,919,200 6,660,724 258,476
= 5,766,000
= 1,153,200
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= 5,766,000
=S 1,153,200
01 XN BELES 6,919,200 6,660,724 258,476
Ol Lets edXiel X 6,919,200
= 5,766,000
< 1,153,200
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= 291,200
308 AFAIEHMSOIE 1,747,200 1,617,989 129,211
= 1,456,000
= 291,200
01 RSN B EES 1,747,200 1,617,989 129,211
OZOHR! AIZEHI Lt XI& 1,747,200
= 1,456,000
== 291,200
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